
Exam Stats cutoffs
-
-

Mean : 82.5 A : 90 - 100

Median : 85
B : 80 - sq

C : 60 - 79

D : 50 - 59

F : 250



#2 on exam)

Average of 9 students
= 85

loth student : 65

85(9) +65
New average : -10

= 83
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Space in freezer 22×+33y E 15000

Budget 5×-1 8g E 900
Doc 's orders X3 X-3g>o y=/
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Recall : Two player games c

C, Cz
payoff matrix :

r riffle
-

9g)rz

C chose Ci .
R chose rz : C pays R 6 dollars

( chose Cz i R chose ri : R pegs C 9 dollars



Rowstrategy :
" gii
ra ④ 8 ④

Col

MaxIII 8

If ( largest row min ) = (smallest col max)
,

game is
called stricthydetr-mine.cl (players should

play same stat every single time ).



Row
C, CZ

MinErnie :

B L l

Col f 7 ET
Max

strictly determined = Yes
Value : 5

Saddle point : ( 3 , 2)

Solution : r3 , Cz



Row

Minexample :

f.? ! Is )6 6 9 64

'motel ④ LET 11

Strictly determined : No
Value : 6
Saddle point : ( 3 , I ) and (3. 2)

Solution : rz , C, or Cz



Row
Ci Cz Min

Etemple :

r
, f?,

-

If - 5✓z

camel II 4

Eta t.bg#et-mined:NorIiXsrcickspicks rz
Saddle points : None

Solution : None



Example : Two stores , A -Mart t B
-Mart fighting

for business
.

A-Mert hes 556 of business , B-Mart has
45%

.

Both consider building new store
• Both build neither build : ther bet Shere stays same

• A -Mart build(B-Mart doesn't : A -Mert gets 65% of
business

° B -Mart build1A -Mart doesn't : B-Mart gets 50% of
B

B NB
business

payoff matrix :
B fo 10]A
NB

-5 O



ni:c
ahh LOT 10

Game is strictly-determined .

Both should build


